Very hard Spatial problems at high level.
Some of the items are solved by submissions. A full eight-score can give a very high 1Q result.
First norm will be calculated after 30 submissions.

Two attempts allowed on all items. No fee.

Spat-1

This is a form of equation. The first answer is given. But what should replace the question mark?

Spat - 2

The answer to the first question is 2. What is the answer for the second question?




Spat -3

The green color is shifting place. Which letters will be covered with green in the last picture?

Spat-4

Solve the answer for the last picture.
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Spat-5

Solve the answer for the last picture.
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Spat-6

Solve the answer for the last picture.

Spat-7

Solve the answer for the questionmark.

Spat- 8

One item are missing. And where should it fit?




